INGILIZCE Sinif-12

KONU

YDT HAZIRLIK

Asagidaki sorularda karsilikli
konusmalarin bos birakilan
kismini tamamlayabilecek
ifadeleri bulunuz.

Soru 1.

Jane:

Do you think there could be
another planet in the Solar System
other than the ones we already
know?

Ronald:

Why not? But even if one
exists, it must be quite distant
from the Sun.

Jane:

Ronald:

Oh, don't worry. If one’s out
there, they'll find it! Science has
been improving faster than we
may think.

A) Astronomers are going to
start analysing the movements of
objects in the Solar System soon.

B) Do you think that scientists
will ever be able to find another
one?

Q) I hope people will be able to
travel across the universe in the
future.

D) Will people ever believe
that there could be life on other
planets?

E) What if it was not that far
from the Sun or our planet?

Coziim: Cevap siklarinda
tlm siklar dil bilgisi ve zaman
cekimleri agisindan bosluga
uygun olarak verilmis. Bu ylizden
soru konusmacilar arasindaki
anlam iliskisini tamamlayarak
¢6ztlmelidir. Jane'in séyledigine
cevaben Ronald “Endiselenme,
eger varsa bulacaklardir.”
demektedir. Bu sdyleme en uygun
6n ciimle “Sence bilim insanlari
baska bir tane bulabilecekler mi?”
dedigi B sikkidr.

Soru 2.

Kevin:

Have you heard what famous
footballer David Beckham says is
his greatest achievement?

Richard:

Kevin:

Actually, no. He says his
greatest achievement has been
always putting his family first. He
even makes breakfast every day
for his kids.

Richard:

That's really unexpected
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from someone like him. I always
thought celebrities only cared
about themselves.

A) Let me guess! He must've
said something about his career
playing for several well-known
clubs.

B) How would | know? I've
never met a celebrity in my life!

Q) That's easy. Celebrities
always say they put their loved
ones and friends first.

D) That's a really tricky
question. He's had such a
successful career that anything
could be considered great!

E) In my opinion, the real
achievement is what you do for
others in your daily life.

Cozlim: Bu soruda dikkat
etmemiz gereken sey 6ncelikle
bosluktan énce bir soru ciimlesi
ve bosluktan sonra da sorulan bir
soruya verilen “Actually, no.” diye
baslayan cevaptir. Yani bosluk
hem bir cevap, hem de “aslinda
hayir” denebilecek bir 6n ciimle
olmalidir. Bu dogrultuda B sikki
hayir diye cevap verilebilecek
bir anlam i¢ermiyor. C sikkinda
soylenen sey “Actually, no..."
diye baslayan ciimleyle ayni seyi
soylemektedir, bu ylizden anlam
cakisacad icin olamaz. D sikki ilk
cumledeki soruya karsilik verilecek
bir cevap degildir. E sikki David
Beckham hakkinda olmadigi
icin konu disinda kalir. A sikki
boslugun Ustindeki soruya “Dur
tahmin edeyim...” diye baslayip,
altindaki cevaba da tahmini yanlis
oldugu icin “no” diye basladigi
icin uygundur ve dogru cevaptir.

Soru 3.

Journalist:

Experts warn that food
industries are being threatened

by a growing resistance to
antibiotics.

Researcher:

Yes, it's becoming more serious
day by day. A UK government
report states that by 2050,
antimicrobial resistance will cost
more money than the current
size of the world's economy,
leading to catastrophes in food
production.

Journalist:

Researcher:

For example, if you buy a
farmed salmon today, chances
are it will have eaten a greater
weight of antibiotics during its life
than its own body weight.

Journalist:

So, we can say that farming
practices are perfect for boosting
antimicrobial resistance.

A) We know that farmers rely
heavily on antibiotics. What is the
reason behind their practices?

B) What can health scientists
and clinicians do to sort out the
problem?

Q) Can you tell us how
antimicrobial resistance affects
food?

D) Do you think food industries
could collapse if resistance
spreads?

E) What else does the report
warn us about?

Cozlim: Bu soruda bosluktan
sonra “For example,..."” diye
baslayan ciimle icerigi bizim
icin belirleyicidir. Bu noktada
“neyi 6rneklendiriyor?” diye
sorup icerige bakildiginda;
orneklendirilenin A sikkindaki
“ciftcilerin antibiyotik
kullanmasinin arkasindaki
sebep” olmadigi, B sikkindaki
bilim insanlari ve klinisyenlerin
problemleri ¢6zimlemek
icin yapmasi gereken” bir
sey olmadigi, D sikkindaki
“antibiyotik kullanimina
karsi cikmanin gida sanayisini
cOkertecegiyle” ilgili olmadig,
E sikkindaki “rapor hakkinda
soylenen baska seylerle” de
ilgili olmadigi gérilmektedir.
Dolayisiyla “For example,..."
diye baslayan ciimle iceriginin
C sikkindaki “Antimikrobiklere
karsi cikilmasinin yiyecekleri nasil
etkileyecegini anlatabilir misin?”
sorusuna cevaben séylendigi
aciktir ve dogru cevap C'dir.
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